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26.

27.

28.

29.

SECTION - 1I

MATHEMATICS

The ratio of supplementary angle and complementary angle of a given angle is
8:3. Then what will be the ratio of given angle with its supplementary angle?

(1) 41 2) 13
3) 14 4) 1:2

What is the cost of fencing a circular garden of radius 28 m with five rounds
of wire, if the wire costs Rs. 50 per m?

(1) Rs. 45,000 (2) Rs. 46,000
(3) Rs. 44,000 (4) Rs. 50,000
— 252\ :
< 3y ) = ? (Choose two correct options)
_8yS —2x°
M) S @ 5
_8y® —8x%y73
®) 7 e

The average of 10 numbers is 20. Out of which the average of first 6 numbers
is 15. The average of last 3 numbers is 16 then what will be the seventh

number?
(1 72 2) 62
3) 52 (4) 60

SPACE FOR ROUGH WORK
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30. What is the sum of additive inverse of (5a — 3b) and additive inverse of

(—6a + 2b)
1) a+b @) a-b
(3) —a+b 4 -a-b

31.  Which of the following statement is wrong?
(A) If a number is divisible by 2 and 5 then it is also divisible by 10.
(B) The numbers divisible by 6 are also divisible by 2 and 3.
(C) The numbers divisible by 7 are odd.
(D) 1, 2, 3, 6 are common factors of all the numbers divisible by 6.
1 A 2) B
3 C 4 D

32. Which of the following statement is not true? (Choose two correct options)
(A) The opposite angles of a parallelogram are congruent.
(B) The adjacent sides of a parallelogram are congruent.
(C) The diagonals of a parallelogram are congruent.
(D) The diagonals of a parallelogram bisect each other.
(1) statement A (2) statement B
(3) statement C (4) statement D

33. The length of a cuboidal tank is one and half time its breadth and height is
twice the length. If volume of the tank is 4500 cubic metre then what is the
height of tank? (Choose two correct options)

(1) 10 m. (2) 3000 cm
(3) 30 m. (4) 1000 cm

SPACE FOR ROUGH WORK
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34.

3S.

36.

37.

If the diameter of a wheel of a tractor is 1.4 m. then how much distance is
covered by the wheel in 400 complete rotation.

(1) 1.66 km (2) 1.56 km
(3) 1.76 km (4) 1.86 km

In the adjoining fig. line / || line m || line » and line x and line y are their
transversals. If AB = 18 ¢cm, BC = 30 cm, QR = 21 c¢cm then PR = ?
x y

(1) 84 cm (2) 14.7 cm
(3) 12.6 cm (4) 33.6 cm

If a number is divided by 18 then the remainder is 1, if it is divided by 24
then the remainder is 7 and if it is divided by 36 then the remainder is 19.
What is the smallest such type of number?

(1) 91 2) 71
3) 79 (4) 55

Which polynomial should be substracted from the polynomial 7x2 — 2x + 4 to
get the polynomial 10x2 + 5?

(1) 3x2+2x + 1 (2) -3x% —2x -1

(3) 3x% —2x + 1 4) —3x% +2x — 1

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

V1.96 — /2.25 +/2.89

/0.000256
(1) 102 2) 103
(3) 102 4) 1073

Pradnya has exactly same number of Rs. 2 coins and Rs. 5 coins. She has a

total amount of Rs. 196 then how many coins of Rs. 5 she has?
(1) 28 (2) 56
3) 35 4) 14

Two angles of measure 40° and 140° with different vertex are drawn then which

of the following statement is true?

(1) The given angles are supplementary angles.

(2) The given angles are linear pair of angles.

(3) The given angles are vertically opposite angles.

(4) The given angles are adjacent angles.

The co-ordinate of point P on a number line is _73 The distance between

point P and point Q is 2 units then what will be the co-ordinate of point Q?

(Choose two correct options)

1 =7 @
® 7 @ 7

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

The radius of a circle with centre 'O' is 10 cm. The length of a chord is
16 cm. Find the distance of the chord from the centre of the circle.

(1) 6 cm (2) 5 cm
(3) 8 cm (4) 26 cm

A hall has length 30 meter and breadth 9.5 m. For flooring this hall, the square
tiles are to be used of half meter side then how many tiles should be required?

(1) 1240 (2) 1140

(3) 1340 4) 1150

Ajay scored 25% marks less than Balbir. Then Balbir scored how much

percentage of marks more than Ajay?

|
(1) 10 2 1lg
(3) 25 @) 33%

The sides forming right angle of a right angled triangle are 8 cm and 15 cm
then what is radius of circumcircle of that triangle?

(1) 85 cm (2) 9.5 cm

(3) 13 cm (4) 17 cm

If the side of an equilateral triangle is 18 cm then what is its area?
(1) 81 sq.cm. (2) 80,3 sq.cm.

(3) 8243 sq.cm. (4) 8143 sq.cm.

SPACE FOR ROUGH WORK
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47.

48.

49.

50.

The rate of tickets of a bus are increased by 20%. After six months, the rate
of tickets again increased by 10% then what is the percentage increase in the

original rate of tickets.
(1) 30% (2) 32%

(3) 25% 4) 35%

A merchant purchased 25 dozen oranges at the rate of Rs. 25 per dozen. He
sold all oranges at the rate of Rs. 32 per dozen. Then how much percentage

of profit did he get?
(1) 25 (2) 32

(3) 28 4) 7

A rope of length 216 m. is cut at five places at same distance then what is

the length of each piece in cm?
(1) 360 cm (2) 3600 cm

(3) 36 cm (4) 36000 cm

Which of the following term should be added so that the expression 49x2+?§

will be a perfect square? (Choose two correct options)

112 ~112
(1 Tx (2) Tx
(3) -36xy (4 %

SPACE FOR ROUGH WORK
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51.

52.

53.

54.

6.28x3.14 . (3.14¢ _

042~ 12.56

3
1 3 2) 0.6
(3) 1.3 @ 3

The number of girls of 8™ standard A division in a school at Beed is 5 more

than half the number of boys. If total number of students in that division is
65 then how many girls are there in that division?

(1) 20 (2) 30
() 25 (4) 40

Which of the following statement is correct?

(A) The number +% is to the right side of the number % on the number

line.

(B) The number % is to the left of zero.

(C) The numbers —% and % are to the left of zero on the number line.
(D) The number —% is to right of the number % on the number line.
(1) statement A (2) statement B

(3) statement C (4) statement D

75 x 75 -7 x75 4+ 35 x35
75 =35 a

(1 3 2 4

?

3) 5 “4) 2

SPACE FOR ROUGH WORK
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55. The difference between sum of three consecutive prime numbers before 50 and

after 50 is completely divisible by which of the following?

(A) 2
B) 3
€ 4
(D) 7
(1) only by A and B (2) only by C and D
(3) only by A and D (4) By A, B and D
56. What is the degree of product of polynomials x3 — 2x2 — 1 and x — x2 ?
(1) 4 2) 5
3 3 4 6
o WO
. 3 1 = !
(V) x (Va)* +y/x
() Vx 2) 1
3) x @) x3

58. A vehicle covers a distance of 42 km in one hour. Then how much distance

will it cover at the same speed in 20 minutes?
(1) 21 km (2) 840 m.
(3) 14 km (4) 20 km

SPACE FOR ROUGH WORK
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59.

60.

61.

62.

Which of the following are the factors of polynomial (2x — 5)3 — 64 ?
() 2(2x — 9) (2x% — 6x + 21) (2) (2x — 5) (4x2 — 12x + 21)

(3) (2x — 9) (4x2 — 12x + 21) 4) (2x + 9) (42 + 12x + 21)

Santoshrao deposited Rs. 2,10,000 in bank for 5 years at simple interest. After
the end of period, he received Rs. 3,36,000 from the bank. Then what was

the rate of interest?
() 11% (2) 10%

3) 12% 4) 14%

The ages of 60 children in a class are given in the frequency distribution table

below. From this, find their mean age.

Age (in years) 12 13 14 15
No. of children 13 12 21 14
(1) 15 years (2) 13.6 years
(3) 13 years (4) 14.5 years

The curved surface area of a cone is 47.10 sq.cm. If radius of the base is

3 cm then what is its perpendicular height? (n =3.14 cm)
() 3 cm (2) 4 cm

(3) 5 cm (4) 15.7 cm

SPACE FOR ROUGH WORK
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63.

64.

65.

66.

67.

How many coins of thickness 0.2 cm and diameter 4 cm will be formed by
melting a solid metallic cuboid of length 22 cm, breadth 18 cm and height
6 cm?

(1) 935 (2) 954
(3) 5% (4) 945

The area of a square is 4.41 sq.cm., then what is its perimeter?
(1) 42 cm (2) 104 cm
(3) 8.8 cm (4) 84 cm

The base radius of a cylindrical tank is 28 cm. It contains water. A metal
cuboid of length 44 cm, breadth 14 cm and height 8 cm is dropped into it.
Then what is the increase in the level of water in tank?

(1) 2 cm (2) 2.5 cm
3) 3 cm (4) 1.5 cm

The length of side of a rhombus is 17 cm. If the length of one diagonal is
16 cm then what is the length of other diagonal?

(1) 30 cm (2) 17 cm
(3) 8 cm (4) 34 cm

The population of a town was 75000. This population is increased by 10%
next year. After that year, the population decreased by 8%. In the third year
the population is increased by 5% then at the end of third year, what will be
the population?

(1) 935550 (2) 78000
(3) 79695 4) 77950
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66.

67.

78000 (2) 935550 (1)
77950 (4) 79695 (3)
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68.

69.

70.

71.

72.

73.

Ashok sold the necklace worth Rs. 15,00,000 at 20% profit. How much amount
Ashok will get?

(1) Rs. 1,12,000 (2) Rs. 18,00,000
(3) Rs. 17,00,000 (4) Rs. 16,00,000

The measures of exterior angles of a triangle are 115° and 117° respectively,
then which type of triangle is it?

(1) Acute angled triangle (2) Obtuse angled triangle
(3) Right angled triangle (4) Equilateral triangle

The length of a diagonal of a square is 11 cm then what is the length of its
side?

(1) 11 cm (2) 11y/2cm
(3) 5.5/2cm (4) 7/2cm
3.9% of 1530 = ? (Choose two correct options.)

(1) 59.67 (2) 5967 x 1073
(3) 5967 x 102 4) 5.967

The measure of a minor arc is 160° then what is the measure of corresponding

major arc?
(1) 160° (2) 320°
(3) 200° (4) 80°

A shopkeeper gives 12% discount on the printed price of a mobile. He sold
a mobile for Rs. 26,400. What was its printed price?

(1) Rs. 30,000 (2) Rs. 32,000
(3) Rs. 26,412 (4) Rs. 3,000
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Instruction for Question No. 74 & 75
In the following joint bar graph, the number of boys

and girls in divisions A,

B, C, D of 8" standard are given. Observe the joint bar graph and answer

the following questions.

Scale : On Y |- Axis Tem = 10 boy

s/girls|

[ boys EX4 girls

i Boys Gitls

Ze
i 110., H Ze SRS

B4 ANANNANAANNNNANAN
54 NN\ S

EET
']Divisio?ll' ‘

74.  What is the total number of students in all four divisions of 8" standard?

(1) 255 (2) 300
(3) 200 (4) 355

75.  What is the ratio of number of boys with number of girls in B division?

(H 67 (2) 7:6
3) 56 (4) 6:5
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